# A new class of $q$-Hermite-based Apostol-type polynomials and its applications 

Waseem A. Khan ${ }^{1}$ and Divesh Srivastava ${ }^{2}$<br>${ }^{1}$ Department of Mathematics and Natural Sciences Prince Mohammad Bin Fahd University<br>P.O Box 1664, Al Khobar 31952, Saudi Arabia<br>e-mail: wkhan1@pmu.edu.sa<br>${ }^{2}$ Department of Mathematics, Faculty of Science Integral University<br>Lucknow-226026, India<br>e-mail: divesh2712@gmail.com


#### Abstract

The present article is to introduce a new class of $q$-Hermite based Apostol-type polynomials and to investigate their properties and characteristics. In particular, the generating functions, series expression and explicit and recurrence relations for these polynomials are established. We derive some relationships for $q$-Hermite based Apostol-type polynomials associated with $q$-Apostol-type Bernoulli polynomials, $q$-Apostol-type Euler and $q$-Apostol-type Genocchi polynomials.


Keywords: $q$-polynomials, $q$-Hermite-based Apostol-type polynomials, $q$-recurrence relations. 2010 Mathematics Subject Classification: 05A10, 05A15, 11B68, 16B65, 33C45.

## 1 Introduction

Many mathematicians, physicists and engineers have been working for a long time in the field of $q$-calculus (see [5,7-9, 15-18]). The $q$-calculus is a generalization of many subjects, like the hypergeometric series, complex analysis, and particle physics. By using $q$-analogs and umbral calculus, of many orthogonal polynomials and functions have been studied. The $q$-calculus is
mostly being used by physicists at a high level. In short, $q$-calculus is a very much popular subject for researchers today.

Recently, due to fundamental importance in numerous areas such as applied mathematics, mechanics, mathematical physics, Lie theory and quantum algebra (see [1-3,5]), a progressive instantaneous development has been found in the field of $q$-calculus. Throughout the article, $\mathbb{C}$ indicates the set of complex numbers, $\mathbb{N}$ designates set of natural numbers and $\mathbb{N}_{0}$ designates set of non-negative integers. Further, the variable $q \in \mathbb{C}$ such that $|q|<1$.

We review certain definitions and concepts related to the $q$-calculus taken from [1], which will be used throughout this work.

The $q$-analogue of $a \in \mathbb{C}$ is defined by:

$$
\begin{equation*}
[a]_{q}=\frac{1-q^{a}}{1-q} ; q \in \mathbb{C} \backslash\{1\} . \tag{1}
\end{equation*}
$$

The $q$-factorial function is defined by:

$$
\begin{equation*}
[n]_{q}!=\prod_{m=1}^{n}[m]_{q}=\frac{(q ; q)}{(1-q)^{n}}, q \neq 1 ; n \in \mathbb{N},[0]_{q}!=1 ; 0<q<1 \tag{2}
\end{equation*}
$$

The $q$-binomial coefficient $\binom{n}{k}_{q}$ is defined by:

$$
\begin{equation*}
\binom{n}{k}_{q}=\frac{[n]_{q}!}{[k]_{q}![n-k]_{q}!}=\frac{(q ; q)_{n}}{(q ; q)_{k}(q ; q)_{n-k}}, k=0,1,2 \ldots, n ; n \in \mathbb{N}_{0} . \tag{3}
\end{equation*}
$$

The $q$-exponential function is defined by:

$$
\begin{equation*}
e_{q}(x)=\sum_{n=0}^{\infty} \frac{x^{n}}{[n]_{q}!}=\frac{1}{((1-q) x ; q)_{\infty}},|x|<|1-q|^{-1} . \tag{4}
\end{equation*}
$$

The $q$-Hermite polynomials are special or limited cased of the orthogonal polynomials as they contain no parameter other than $q$ and appear to be at the bottom of a hierarchy of the classical $q$-orthogonal polynomials (see [2]).

We recall that the $q$-Hermite polynomials $H_{n, q}(x)$ are defined by means of the following generating function, (see [16]):

$$
\begin{equation*}
F_{q}(x, t)=F_{q}(t) e_{q}(x t)=\sum_{n=0}^{\infty} H_{n, q}(x) \frac{t^{n}}{[n]_{q}!}, F_{q}(t)=\sum_{n=0}^{\infty}(-1)^{n} q^{\binom{n}{2}} \frac{t^{2 n}}{[2 n]_{q}!} . \tag{5}
\end{equation*}
$$

Recently, many mathematicians studied the unification of the Bernoulli and Euler polynomials. Luo and Srivastava (see [10, 11]) introduced the generalized Apostol-Bernoulli polynomials $B_{n}^{(\alpha)}(x)$ of order $\alpha$. Further, the generalized Apostol-Euler polynomials $E_{n}^{(\alpha)}(x)$ of order $\alpha$ and the generalized Apostol-Genochhi polynomials $G_{n}^{(\alpha)}(x)$ of order $\alpha$ are investigated by Luo (see [12, 13]).

Thereafter, in 2014 Ernst [4] defined the $q$-analogues of the generalized Apostol type polynomials.

The generalized $q$-Apostol-Bernoulli polynomials of order $\alpha \in \mathbb{N}_{0}$ are defined by the following generating function, (see [4]):

$$
\begin{equation*}
\left(\frac{t}{\lambda e_{q}(t)-1}\right)^{\alpha} e_{q}(x t)=\sum_{n=0}^{\infty} \mathcal{B}_{n, q}^{(\alpha)}(x ; a, b ; \lambda) \frac{t^{n}}{[n]_{q}!}(|t|<|\log (-\lambda)|) . \tag{6}
\end{equation*}
$$

The generalized $q$-Apostol-Euler polynomials of order $\alpha \in \mathbb{N}_{0}$ are defined by the following generating function, (see [4]):

$$
\begin{equation*}
\left(\frac{2}{\lambda e_{q}(t)+1}\right)^{\alpha} e_{q}(x t)=\sum_{n=0}^{\infty} \mathcal{E}_{n, q}^{(\alpha)}(x ; a, b ; \lambda) \frac{t^{n}}{[n]_{q}!},(|t|<|\log (-\lambda)|) . \tag{7}
\end{equation*}
$$

The generalized $q$-Apostol-Genocchi polynomials of order $\alpha \in \mathbb{N}_{0}$ are defined by the following generating function, (see [4]):

$$
\begin{equation*}
\left(\frac{2 t}{\lambda e_{q}(t)+1}\right)^{\alpha} e_{q}(x t)=\sum_{n=0}^{\infty} \mathcal{G}_{n, q}^{(\alpha)}(x ; a, b ; \lambda) \frac{t^{n}}{[n]_{q}!},(|t|<|\log (-\lambda)|) \tag{8}
\end{equation*}
$$

In view of equations (6)-(8), we introduce the generalized $q$-Apostol type polynomials $F_{n, q}^{(\alpha)}(x ; a, b ; \lambda)$ of order $\alpha$ by means of the following generating function, (see [4]):

$$
\begin{align*}
& \left(\frac{2^{\mu} t^{\nu}}{\lambda e_{q}(t)+a^{b}}\right)^{\alpha} e_{q}(x t)=\sum_{n=0}^{\infty} \mathcal{F}_{n, q}^{(\alpha)}(x ; a, b ; \lambda) \frac{t^{n}}{[n]_{q}!},  \tag{9}\\
& \left(\alpha \in \mathbb{N}_{0}, \lambda, a, b \in \mathbb{C},|t|<|\log (-\lambda)|\right)
\end{align*}
$$

Where $F_{n, q}^{(\alpha)}(a, b ; \lambda)=F_{n, q}^{(\alpha)}(0 ; a, b ; \lambda)$ are known as $q$-Apostol-type numbers of order $\alpha$.
If we take the $\lim _{q \rightarrow 1}$; the generalized $q$-Apostol type polynomials defined by equation (9) reduces to the unified Apostol type polynomials (see [14]). In fact, the following special case holds:

$$
\lim _{q \rightarrow 1} \mathcal{F}_{n, q}^{(\alpha)}(x ; a, b ; \lambda)=\mathcal{F}_{n}^{(\alpha)}(x ; a, b ; \mu, \nu ; \lambda) .
$$

The following special cases hold true:

$$
\begin{gathered}
\lim _{q \rightarrow 1} \mathcal{F}_{n, q}^{(\alpha)}(x ; 1,1,1 ; \lambda)=B_{n}^{(\alpha)}(x ; \lambda) \\
\lim _{q \rightarrow 1} \mathcal{F}_{n, q}^{(\alpha)}(x ; 0,-1,0 ; \lambda)=E_{n}^{(\alpha)}(x ; \lambda) \\
\lim _{q \rightarrow 1} \mathcal{F}_{n, q}^{(\alpha)}(x ; 1,-1 / 2,1 ; \lambda)=G_{n}^{(\alpha)}(x ; \lambda)
\end{gathered}
$$

where $B_{n}^{(\alpha)}(x ; \lambda), E_{n}^{(\alpha)}(x ; \lambda)$ and $G_{n}^{(\alpha)}(x ; \lambda)$ are the generalized forms of the Apostol-Bernoulli, Apostol-Euler and Apostol-Genocchi polynomials, (see [14]). The Stirling numbers of the second kind are defined as, (see [19]):

$$
\begin{equation*}
\sum_{n=m}^{\infty} S_{2}(n, m) \frac{t^{n}}{n!}=\frac{\left(e^{t}-1\right)^{m}}{m!} \tag{10}
\end{equation*}
$$

This paper is organized as follows. In Section 2, we consider $q$-Hermite-based Apostol-type polynomials and we derive some properties of these polynomials. In Section 3, we derive some relationships in between $q$-Apostol-type Bernoulli polynomials, $q$-Apostol-type Euler polynomials and $q$-Apostol-type Genocchi polynomials.

## $2 q$-Hermite-based Apostol-type polynomials

This section is designed with certain properties of $q$-Hermite-based Apostol-type polynomials and some properties. We begin with the following definition as follows.

Definition 2.1. For $q \in \mathbb{C}, 0<|q|<1$, the generalized $q$-Hermite-based Apostol-type polynomials are defined by means of the following generating function:

$$
\begin{equation*}
\left(\frac{2^{\mu} t^{\nu}}{\lambda e_{q}(t)+a^{b}}\right)^{\alpha} F_{q}(t) e_{q}(x t)=\sum_{n=0}^{\infty}{ }_{H} \mathcal{F}_{n, q}^{(\alpha)}(x ; a, b ; \lambda ; \mu, \nu) \frac{t^{n}}{[n]_{q}!}, \tag{11}
\end{equation*}
$$

where, $\lambda, \mu, \nu, a, b \in \mathbb{C}, n \geq 0$ and $|t|<|\ln (-\lambda)|$.
If we take $x=0$ in (11), we have

$$
{ }_{H} \mathcal{F}_{n, q}^{(\alpha)}(a, b ; \mu, \nu ; \lambda)={ }_{H} \mathcal{F}_{n, q}^{(\alpha)}(0 ; a, b ; \mu, \nu ; \lambda),
$$

where ${ }_{H} \mathcal{F}_{n, q}^{(\alpha)}(a, b ; \mu, \nu ; \lambda)$ are known as $q$-Hermite-based-Apostol-type numbers of order $\alpha$.
For $\lambda=1$ in (11), we get

$$
{ }_{H} \mathcal{F}_{n, q}^{(\alpha)}(x ; a, b ; \mu, \nu)={ }_{H} \mathcal{F}_{n, q}^{(\alpha)}(x ; a, b ; \mu, \nu ; 1),
$$

where ${ }_{H} \mathcal{F}_{n, q}^{(\alpha)}(x ; a, b ; \mu, \nu)$ are known as $q$-Hermite-based unified polynomials of order $\alpha$.
On setting $\lambda=\alpha=1$ in (11), we have

$$
{ }_{H} \mathcal{F}_{n, q}(x ; a, b ; \mu, \nu)={ }_{H} \mathcal{F}_{n, q}^{(1)}(x ; a, b ; \mu, \nu ; 1),
$$

where ${ }_{H} \mathcal{F}_{n, q}(x ; a, b ; \mu, \nu)$ are known as $q$-Hermite-based unified polynomials.
Now, we give some special cases for $q$-Hermite-based unified Apostol-type polynomials with the help of the following table:

| S.No. | Case | Name of the polynomial | Generating function |
| :---: | :---: | :---: | :---: |
| i | $\begin{aligned} & \mu=0, \nu=1, a=-1, b=1 \\ & \begin{array}{l} \mu=0, \nu=1, a=-1, b= \\ 1, \lambda=1 \end{array} \\ & \begin{array}{l} \mu=0, \nu=1, a=-1, b= \\ 1, \lambda=\alpha=1 \end{array} \end{aligned}$ | $q$-HATBP of order $\alpha$ $q$-HBP order $\alpha$ $q$-HBP | $\begin{aligned} \hline \hline & \left(\frac{t}{\lambda e_{q}(t)-1}\right) F_{q}(t) e_{q}(x t) \\ = & \sum_{n=0}^{\infty} \mathcal{B}_{n, q}^{(\alpha)}(x ; \lambda ; 0,1) \frac{t^{n}}{[n]_{q}!} . \\ & \left(\frac{t}{e_{q}(t)-1}\right) F_{q}(t) e_{q}(x t) \\ = & \sum_{n=0}^{\infty} \mathcal{B}_{n, q}^{(\alpha)}(x ; 1 ; 0,1) \frac{t^{n}}{n]_{q!}} . \\ & \quad\left(\frac{t}{e_{q}(t)-1}\right) F_{q}(t) e_{q}(x t) \\ = & \sum_{n=0}^{\infty} \mathcal{B}_{n, q}(x ; 1 ; 0,1) \frac{t^{n}}{[n]_{q}!} . \end{aligned}$ |
| ii | $\mu=1, \nu=0, a=b=1$ $\mu=1, \nu=0, a=b=1, \lambda=1$ $\begin{aligned} & \mu=1, \nu=0, a=b=1, \lambda= \\ & \alpha=1 \end{aligned}$ | $q$-HATEP of order $\alpha$ $q$-HEP order $\alpha$ $q$-HEP | $\begin{aligned} & \left(\frac{t}{\lambda_{q}(t)+1}\right) F_{q}(t) e_{q}(x t) \\ = & \sum_{n=0}^{\infty} \mathcal{E}_{n, q}^{(\alpha)}(x ; \lambda ; 1,0) \frac{t^{n}}{[n]_{q}!} . \\ & \quad\left(\frac{t}{e_{q}(t)+1}\right) F_{q}(t) e_{q}(x t) \\ = & \sum_{n=0}^{\infty} \mathcal{E}_{n, q}^{(\alpha)}(x ; 1 ; 1,0) \frac{t^{n}}{[n]_{q}!} . \\ & \quad\left(\frac{t}{e_{q}(t)+1}\right) F_{q}(t) e_{q}(x t) \\ = & \sum_{n=0 H}^{\infty} \mathcal{E}_{n, q}(x ; 1 ; 1,0) \frac{t^{n}}{[n]_{q!}} . \end{aligned}$ |
| iii | $\begin{aligned} & \mu=1, \nu=1, a=b=1 \\ & \mu=1, \nu=1, a=b=1, \lambda=1 \\ & \begin{array}{l} \mu=1, \nu=1, a=b=1, \lambda= \\ \alpha=1 \end{array} \end{aligned}$ | $q$-HATGP of order $\alpha$ $q$-HGP order $\alpha$ $q$-HGP | $\begin{aligned} & \left(\frac{2 t}{\lambda_{q}(t)+1}\right) F_{q}(t) e_{q}(x t) \\ = & \sum_{n=0}^{\infty} \mathcal{G}_{n, q}^{(\alpha)}(x ; \lambda ; 1,1) \frac{t^{n}}{[n]]_{q}!} . \\ & \left(\frac{2 t}{e_{q}(t)+1}\right) F_{q}(t) e_{q}(x t) \\ = & \sum_{n=0}^{\infty} \mathcal{G}_{n, q}^{(\alpha)}(x ; 1 ; 1,1) \frac{t^{n}}{[n]!!} . \\ & \left.\quad \frac{t}{e_{q}(t)+1}\right) F_{q}(t) e_{q}(x t) \\ = & \sum_{n=0 H}^{\infty} \mathcal{G}_{n, q}(x ; 1 ; 1,1) \frac{t^{n}}{[n]_{q!}} . \end{aligned}$ |

Table 1. Special cases for $q$-Hermite-based unified Apostol-type polynomials

Theorem 2.1. The following relations hold true:

$$
\begin{gather*}
{ }_{H} \mathcal{F}_{m, q}^{(\alpha)}(x ; a, b ; \lambda ; \mu, \nu)=\sum_{n=0}^{m}\binom{m}{n}_{q} \mathcal{F}_{n, q}^{(\alpha)}(a, b ; \lambda ; \mu, \nu) H_{m-n, q}(x),  \tag{12}\\
{ }_{H} \mathcal{F}_{n, q}^{(\alpha)}(x ; a, b ; \lambda ; \mu, \nu)=\sum_{n=0}^{m}\binom{m}{n}_{q}{ }_{H} \mathcal{F}_{n, q}^{(\alpha)}(a, b ; \lambda ; \mu, \nu) x^{m-n} . \tag{13}
\end{gather*}
$$

Proof. From (11), we have

$$
\begin{gathered}
\sum_{n=0}^{\infty}{ }_{H} \mathcal{F}_{n, q}^{(\alpha)}(x ; a, b ; \lambda ; \mu, \nu) \frac{t^{n}}{[n]_{q}!}=\left(\frac{2^{\mu} t^{\nu}}{\lambda e_{q}(t)+a^{b}}\right) F_{q}(t) e_{q}(x t) . \\
\sum_{n=0}^{\infty}{ }_{H} \mathcal{F}_{n, q}^{(\alpha)}(x ; a, b ; \lambda ; \mu, \nu) \frac{t^{n}}{[n]_{q}!}=\sum_{n=0}^{\infty} \mathcal{F}_{n, q}^{(\alpha)}(a, b ; \lambda ; \mu, \nu) \frac{t^{n}}{[n]_{q}!} \sum_{m=0}^{\infty} H_{m, q}(x) \frac{t^{m}}{[m]_{q}!} .
\end{gathered}
$$

Now using the Cauchy product and comparing the coefficients of $t^{n}$, we obtain the desired result (12). Again, by using (11), we have

$$
\begin{gathered}
\sum_{n=0}^{\infty}{ }_{H} \mathcal{F}_{n, q}^{(\alpha)}(x ; a, b ; \lambda ; \mu, \nu) \frac{t^{n}}{[n]_{q}!}=\left(\frac{2^{\mu} t^{\nu}}{\lambda e_{q}(t)+a^{b}}\right) F_{q}(t) e_{q}(x t) . \\
\sum_{n=0}^{\infty}{ }_{H} \mathcal{F}_{n, q}^{(\alpha)}(x ; a, b ; \lambda ; \mu, \nu) \frac{t^{n}}{[n]_{q}!}=\sum_{n=0}^{\infty}{ }_{H} \mathcal{F}_{n, q}^{(\alpha)}(a, b ; \lambda ; \mu, \nu) \frac{t^{n}}{[n]_{q}!} \sum_{m=0}^{\infty} \frac{(x t)^{m}}{[m]_{q}!} .
\end{gathered}
$$

Using the Cauchy product and comparing the coefficients of $t^{n}$, we get the result (13).
Theorem 2.2. The following relations hold true:

$$
\begin{gather*}
{ }_{H} \mathcal{F}_{n, q}^{(\alpha+\beta)}(x ; a, b ; \lambda ; \mu, \nu)=\sum_{r=0}^{n}\binom{n}{r}_{q}{ }_{H} \mathcal{F}_{r, q}^{(\alpha)}(x ; a, b ; \lambda ; \mu, \nu)_{H} \mathcal{F}_{n-r, q}^{(\beta)}(a, b ; \lambda ; \mu, \nu),  \tag{14}\\
{ }_{H} \mathcal{F}_{n, q}^{(\alpha+\beta)}(x+u ; a, b ; \lambda ; \mu, \nu)=\sum_{r=0}^{n}\binom{n}{r}_{q}{ }_{H} \mathcal{F}_{r, q}^{(\alpha)}(x ; a, b ; \lambda ; \mu, \nu)_{H} \mathcal{F}_{n-r, q}^{(\beta)}(u ; a, b ; \lambda ; \mu, \nu),  \tag{15}\\
\lambda_{H} \mathcal{F}_{n, q}^{(\alpha)}(x+1 ; a, b ; \lambda ; \mu, \nu)+a^{b}{ }_{H} \mathcal{F}_{n, q}^{(\alpha)}(x ; a, b ; \lambda ; \mu, \nu)=\frac{2^{\mu}[n]_{q}!}{[n-k]_{q}!}{ }_{H} \mathcal{F}_{n-k, q}^{(\alpha-1)}(x ; a, b ; \lambda ; \mu, \nu) . \tag{16}
\end{gather*}
$$

Proof. Utilizing (11) and making use of lemma (see [20, p.100, eq.2]), we can easily obtain results (14) and (15).

For obtaining the result (16), we take

$$
\begin{aligned}
& \sum_{n=0}^{\infty}{ }_{H} \mathcal{F}_{n, q}^{(\alpha)}(x+1 ; a, b ; \lambda ; \mu, \nu) \frac{t^{n}}{[n]_{q}!}+a^{b} \sum_{n=0}^{\infty}{ }_{H} \mathcal{F}_{n, q}^{(\alpha)}(x ; a, b ; \lambda ; \mu, \nu) \frac{t^{n}}{[n]_{q}!} \\
& =\lambda\left(\frac{2^{\mu} t^{\nu}}{\lambda e_{q}(t)+a^{b}}\right)^{\alpha} F_{q}(t) e_{q}((x+1) t)+a^{b}\left(\frac{2^{\mu} t^{\nu}}{\lambda e_{q}(t)+a^{b}}\right)^{\alpha} F_{q}(t) e_{q}(x t) \\
& =\left(\frac{2^{\mu} t^{\nu}}{\lambda e_{q}(t)+a^{b}}\right)^{\alpha} F_{q}(t) e_{q}(x t)\left[\lambda e_{q}(t)+a^{b}\right] \\
& \\
& =\sum_{n=0}^{\infty} 2^{\mu}{ }_{H} \mathcal{F}_{n, q}^{(\alpha-1)}(x ; a, b ; \lambda ; \mu, \nu) \frac{t^{n+k}}{[n]_{q}!}
\end{aligned}
$$

Using the Cauchy product and comparing of the coefficients of $t^{n}$, we arrive at the required result (16).

Theorem 2.3. The following recurrence relations hold true:

$$
\begin{align*}
& { }_{H} \mathcal{B}_{k, q}^{(\alpha)}\left(\frac{1}{m}\right)-\sum_{j=0}^{k}\binom{k}{j}_{q}\left(\frac{1}{m}-1\right)^{k-j} \mathcal{B}_{j, q}^{(\alpha)}=[k]_{q} \sum_{j=0}^{k-1}\binom{k-1}{j}_{q} \times\left(\frac{1}{m}-1\right)_{q}^{(k-j-1)}{ }_{H} \mathcal{B}_{j, q}^{(\alpha-1)},  \tag{17}\\
& { }_{H} \mathcal{E}_{k, q}^{(\alpha)}\left(\frac{1}{m}\right)+\sum_{j=0}^{k}\binom{k}{j}_{q}\left(\frac{1}{m}-1\right)^{k-j} \mathcal{E}_{j, q}^{(\alpha)}=2 \sum_{j=0}^{k}\binom{k}{j}_{q} \times\left(\frac{1}{m}-1\right)_{q}^{(k-j)}{ }_{H} \mathcal{E}_{j, q}^{(\alpha-1)} . \tag{18}
\end{align*}
$$

Proof. These relations can be obtained by making use of (11) with replacement of $x$ with $\frac{1}{m}$.
Proposition. The following differential relation holds true:

$$
\begin{equation*}
D_{q, x H} \mathcal{F}_{n, q}^{(\alpha)}(x ; a, b ; \lambda ; \mu, \nu)=[n]_{q H} \mathcal{F}_{n-1, q}^{(\alpha)}(x ; a, b ; \lambda ; \mu, \nu) \tag{19}
\end{equation*}
$$

Proof. Using (11), we get

$$
\sum_{n=0}^{\infty}{ }_{H} \mathcal{F}_{n, q}^{(\alpha)}(x ; a, b ; \lambda ; \mu, \nu) \frac{t^{n}}{[n]_{q}!}=\left(\frac{2^{\mu} t^{\nu}}{\lambda e_{q}(t)+a^{b}}\right)^{\alpha} e_{q}(x t) F_{q}(t)
$$

Differentiating the above equation with respect to $x$ and using the result $D_{q, x} e_{q}(x t)=x e_{q}(x t)$, we have

$$
D_{q, x} \sum_{n=0}^{\infty}{ }_{H} \mathcal{F}_{n, q}^{(\alpha)}(x ; a, b ; \lambda ; \mu, \nu) \frac{t^{n}}{[n]_{q}!}=\left(\frac{2^{\mu} t^{\nu}}{\lambda e_{q}(t)+a^{b}}\right)^{\alpha} e(x t) F_{q}(t) t
$$

Now using the Cauchy product and comparing the coefficients of $t$, we lead to the required result.

Theorem 2.4. The following relations hold true:

$$
\begin{gather*}
{ }_{H} \mathcal{F}_{n, q}^{(\alpha)}(x ; a, b ; \lambda ; \mu, \nu)=\sum_{m=0}^{\left[\frac{n}{2}\right]}(-1)^{m} q^{\binom{m}{2}}\binom{n}{2 m}_{q} \mathcal{F}_{n-2 m, q}^{(\alpha)}(x ; a, b ; \lambda ; \mu, \nu),  \tag{20}\\
{ }_{H} \mathcal{F}_{n, q}^{(\alpha)}(x ; a, b ; \lambda ; \mu, \nu)=\sum_{m=0}^{n}\binom{n}{m}_{q}{ }_{H} \mathcal{F}_{n-m, q}^{(\alpha)}(a, b ; \lambda ; \mu, \nu) x^{m} . \tag{21}
\end{gather*}
$$

Proof. From (11), we have

$$
\begin{aligned}
& \sum_{n=0}^{\infty}{ }_{H} \mathcal{F}_{n, q}^{(\alpha)}(x ; a, b ; \lambda ; \mu, \nu) \frac{t^{n}}{[n]_{q}!}=\left(\frac{2^{\mu} t^{\nu}}{\lambda e_{q}(t)+a^{b}}\right) F_{q}(t) e_{q}(x t) \\
&=\sum_{n=0}^{\infty} \mathcal{F}_{n, q}^{(\alpha)}(x ; a, b ; \lambda ; \mu, \nu) \frac{t^{n}}{[n]_{q}!} \sum_{m=0}^{\infty}(-1)^{m} q^{\binom{m}{2}} \frac{t^{2 m}}{[2 m]_{q}!}
\end{aligned}
$$

Using the Cauchy product and comparing the coefficients of $t$, we arrive at the desired result (20). The proof of (21) is similar.

Corollary 2.4.1. On setting $x=1$ in (20) and (21), we have

$$
\begin{gather*}
{ }_{H} \mathcal{F}_{n, q}^{(\alpha)}(1 ; a, b ; \lambda ; \mu, \nu)=\sum_{m=0}^{\left[\frac{n}{2}\right]}(-1)^{m} q^{\binom{m}{2}}\binom{n}{2 m}_{q} \mathcal{F}_{n-2 m, q}^{(\alpha)}(1 ; a, b ; \lambda ; \mu, \nu),  \tag{22}\\
{ }_{H} \mathcal{F}_{n, q}^{(\alpha)}(1 ; a, b ; \lambda ; \mu, \nu)=\sum_{m=0}^{n}\binom{n}{m}_{q} \mathcal{F}_{n-m, q}^{(\alpha)}(a, b ; \lambda ; \mu, \nu) \tag{23}
\end{gather*}
$$

## 3 Relationships between Bernoulli, Euler and Genocchi polynomials

In this section, we establish some relationships for $q$-Hermite-based Apostol-type polynomials related to $q$-Apostol-Bernoulli polynomials, $q$-Apostol-Euler polynomials and $q$-Apostol-type Genocchi polynomials.

Theorem 3.1. The following relation holds true:

$$
\begin{gather*}
H \mathcal{F}_{n, q}^{(\alpha)}(x ; a, b ; \lambda ; \mu, \nu)= \\
\frac{1}{[n+1]_{q}!}\left[\lambda \sum_{r=0}^{n+1}\binom{n+1}{r} \sum_{q}^{n+1}\binom{n+1}{m}_{q} \mathcal{B}_{n+1-m-r, q}(x ; \lambda)\right]{ }_{H} \mathcal{F}_{m, q}^{(\alpha)}(a, b ; \lambda ; \mu, \nu) \\
\left.\quad-\left[\frac{1}{[n+1]_{q}!} \sum_{m=0}^{n+1}\binom{n+1}{m}_{q} \mathcal{B}_{n+1-m, q}\right]\right] \mathcal{F}_{m, q}^{(\alpha)}(a, b ; \lambda ; \mu, \nu) . \tag{24}
\end{gather*}
$$

Proof. From (11), we have

$$
\begin{gathered}
\left(\frac{2^{\mu} t^{\nu}}{\lambda e_{q}(t)+a^{b}}\right)^{\alpha} e_{q}(x t) F_{q}(t)=\left(\frac{2^{\mu} t^{\nu}}{\lambda e_{q}(t)+a^{b}}\right)^{\alpha} \frac{t}{\lambda e_{q}(t)-1} F_{q}(t) \frac{\lambda e_{q}(t)-1}{t} e_{q}(x t) \\
=\left(\frac{2^{\mu} t^{\nu}}{\lambda e_{q}(t)+a^{b}}\right)^{\alpha} F_{q}(t)\left[\frac{t}{\lambda e_{q}(t)-1} e_{q}(x t)\right] \frac{\lambda}{t} e_{q}(t) \\
\quad-\frac{1}{t}\left(\frac{2^{\mu} t^{\nu}}{\lambda e_{q}(t)+a^{b}}\right)^{\alpha} F_{q}(t)\left[\frac{t}{\lambda e_{q}(t)-1} e_{q}(x t)\right] \\
=\frac{1}{t}\left(\lambda \sum_{m=0}^{\infty}{ }_{H} \mathcal{F}_{m, q}^{(\alpha)}(a, b ; \lambda ; \mu, \nu) \frac{t^{m}}{[m]_{q}!} \sum_{r=0}^{\infty} \mathcal{B}_{r, q}(x ; \lambda) \frac{t^{r}}{[r]_{q}!} \sum_{r=0}^{\infty} \frac{t^{r}}{[r]_{q}!}\right. \\
\left.\quad-\sum_{m=0}^{\infty} H_{H, q} \mathcal{F}_{m, q}^{(\alpha)}(a, b ; \lambda ; \mu, \nu) \frac{t^{m}}{[m]_{q}!} \sum_{n=0}^{\infty} \mathcal{B}_{n, q}(x ; \lambda) \frac{t^{n}}{[n]_{q}!}\right) .
\end{gathered}
$$

On making use of the Cauchy product and comparing the coefficients of $t^{n}$, we arrive at the desired result.

Corollary 3.1.1. The following relations hold true for Euler and Genocchi polynomials with $q$-Hermite-based Apostol-type polynomials.

$$
\begin{align*}
{ }_{H} \mathcal{F}_{n, q}^{(\alpha)}(x ; a, b ; \lambda ; \mu, \nu)= & \frac{1}{2}\left[\lambda \sum_{r=0}^{n}\binom{n}{r}_{q} \sum_{m=0}^{n}\binom{n}{m}_{q} \mathcal{E}_{n-m-r, q}(x ; \lambda)\right]{ }_{H} \mathcal{F}_{m, q}^{(\alpha)}(a, b ; \lambda ; \mu, \nu) \\
& -\left[\frac{1}{2} \sum_{m=0}^{n}\binom{n}{m}_{q} \mathcal{E}_{n-m, q}\right]{ }_{H} \mathcal{F}_{m, q}^{(\alpha)}(a, b ; \lambda ; \mu, \nu), \tag{25}
\end{align*}
$$

and

$$
{ }_{H} \mathcal{F}_{n, q}^{(\alpha)}(x ; a, b ; \lambda ; \mu, \nu)=
$$

$$
\begin{align*}
\frac{1}{2[n+1]_{q}!} & {\left[\lambda \sum_{r=0}^{n+1}\binom{n+1}{r} \sum_{q}^{n+1}\binom{n+1}{m}_{q} \mathcal{G}_{n+1-m-r, q}(x ; \lambda)\right]{ }_{H} \mathcal{F}_{m, q}^{(\alpha)}(a, b ; \lambda ; \mu, \nu) } \\
& -\left[\frac{1}{2[n+1]_{q}!} \sum_{m=0}^{n+1}\binom{n+1}{m}_{q} \mathcal{G}_{n+1-m, q}\right]{ }_{H} \mathcal{F}_{m, q}^{(\alpha)}(a, b ; \lambda ; \mu, \nu) \tag{26}
\end{align*}
$$

Theorem 3.2. The following explicit relationship between $q$-Hermite-Apostol Bernoulli polynomials, $q$-Hermite-Apostol Euler polynomials and $q$-Hermite-Apostol Genocchi polynomials holds true:

$$
\begin{equation*}
{ }_{H} \mathcal{G}_{n, q}^{(\alpha)}(x ; a, b ; \lambda)=\frac{1}{2} \sum_{k=0}^{n}\binom{n}{k}_{q}\left[\sum_{j=0}^{k}\binom{n}{j}_{q}{ }_{H} \mathcal{E}_{n-j-k, q}(x ; \lambda)+{ }_{H} \mathcal{E}_{n-k, q}(x ; \lambda)\right]{ }_{H} \mathcal{G}_{k, q}^{(\alpha)}(x ; a, b ; \lambda) . \tag{27}
\end{equation*}
$$

Proof. From (11), we get

$$
\begin{align*}
&\left(\frac{2 t}{\lambda e_{q}(t)+a^{b}}\right)^{\alpha} e_{q}(x t) F_{q}(t)= \frac{2}{\lambda e_{q}(t)+1} F_{q}(t)\left(\frac{e_{q}(t)+1}{2}\right)\left(\frac{2 t}{\lambda e_{q}(t)+a^{b}}\right)^{\alpha} e_{q}(x t) \\
& \sum_{n=0}^{\infty}{ }_{H} \mathcal{G}_{n, q}^{(\alpha)}(x ; a, b ; \lambda) \frac{t^{n}}{[n]_{q}!}= \frac{1}{2} \sum_{n=0}^{\infty}{ }_{H} \mathcal{E}_{n, q}(0 ; \lambda) \frac{t^{n}}{[n]_{q}!} \sum_{j=0}^{\infty} \frac{t^{j}}{[j]_{q}!} \sum_{k=0}^{\infty}{ }_{H} \mathcal{G}_{k, q}^{(\alpha)}(x ; a, b ; \lambda) \frac{t^{k}}{[k]_{q}!} \\
&+\frac{1}{2} \sum_{n=0}^{\infty}{ }_{H} \mathcal{E}_{n, q}(0 ; \lambda) \frac{t^{n}}{[n]_{q}!} \sum_{k=0}^{\infty}{ }_{H} \mathcal{G}_{k, q}^{(\alpha)}(x ; a, b ;) \frac{t^{k}}{[k]_{q}!} . \\
& \sum_{n=0}^{\infty}{ }_{H} \mathcal{G}_{n, q}^{(\alpha)}(x ; a, b ; \lambda) \frac{t^{n}}{[n]_{q}!}=I_{1}+I_{2} . \tag{28}
\end{align*}
$$

For $I_{1}$,

$$
\begin{gather*}
I_{1}=\frac{1}{2} \sum_{n=0}^{\infty}{ }_{H} \mathcal{E}_{n, q}(0 ; \lambda) \frac{t^{n}}{[n]_{q}!} \sum_{j=0}^{\infty} \frac{t^{j}}{[j]_{q}!} \sum_{k=0}^{\infty}{ }_{H} \mathcal{G}_{k, q}^{(\alpha)}(x ; a, b ; \lambda) \frac{t^{k}}{[k]_{q}!} \\
I_{1}=\frac{1}{2} \sum_{n=0}^{\infty} \sum_{k=0}^{n} \sum_{j=0}^{n}\binom{n}{k}_{q}{ }_{H} \mathcal{G}_{k, q}^{(\alpha)}(x ; a, b ; \lambda)\binom{n}{j}_{q}{ }_{H} \mathcal{E}_{n-j-k, q}(0 ; \lambda) \frac{t^{n}}{[n]_{q}!} . \tag{29}
\end{gather*}
$$

For $I_{2}$,

$$
\begin{gather*}
I_{2}=\frac{1}{2} \sum_{n=0}^{\infty}{ }_{H} \mathcal{E}_{n, q}(0 ; \lambda) \frac{t^{n}}{[n]_{q}!} \sum_{k=0}^{\infty}{ }_{H} \mathcal{G}_{k, q}^{(\alpha)}(x ; a, b ;) \frac{t^{k}}{[k]_{q}!} \\
I_{2}=\frac{1}{2} \sum_{n=0}^{\infty} \sum_{k=0}^{n}\binom{n}{k}_{q}{ }_{H} \mathcal{E}_{n-k, q}(0 ; \lambda)_{H} \mathcal{G}_{k, q}^{(\alpha)}(x ; a, b ;) \frac{t^{n}}{[n]_{q}!} . \tag{30}
\end{gather*}
$$

From (28), we get

$$
\begin{aligned}
\sum_{n=0}^{\infty}{ }_{H} \mathcal{G}_{n, q}^{(\alpha)}(x ; a, b ; \lambda) \frac{t^{n}}{[n]_{q}!}= & \frac{1}{2} \sum_{n=0}^{\infty} \sum_{k=0}^{n}\binom{n}{k}_{q}\left[\sum_{j=0}^{n}\binom{n}{j}_{q}{ }_{H} \mathcal{E}_{n-j-k, q}(x ; \lambda)\right. \\
& \left.+{ }_{H} \mathcal{E}_{n-k, q}(x ; \lambda)\right]{ }_{H} \mathcal{G}_{k, q}^{\alpha}(x ; a, b ; \lambda) \frac{t^{n}}{[n]_{q}!}
\end{aligned}
$$

On comparing the coefficients of $t^{n}$, we obtain the required result.

Theorem 3.3. The following relation holds true:

$$
\begin{gather*}
\mathcal{E}_{n, q}^{(\alpha)}(x ; a, b ; \lambda)=\sum_{k=0}^{n}\binom{n}{k}_{q} \frac{1}{m^{n-1}[k+1]_{q}!}\left[2 \sum_{j=0}^{k+1}\binom{k+1}{j}_{q}\left(\frac{1}{m}-1\right)^{k+1-j} \mathcal{E}_{j, q}^{(\alpha-1)}(0 ; a, b ; \lambda)\right. \\
\left.-\sum_{j=0}^{k+1}\binom{k+1}{j}_{q}\left(\frac{1}{m}-1\right)^{k+1-j} \mathcal{E}_{j, q}^{(\alpha)}(0 ; a, b ; \lambda)-\mathcal{E}_{k+1, q}^{(\alpha)}(0 ; a, b ; \lambda)\right] \\
\times_{H} \mathcal{B}_{n-k, q}(m x ; a, b ; \lambda) \tag{31}
\end{gather*}
$$

Proof. Using (11), we have

$$
\begin{array}{r}
\left(\frac{2}{\lambda e_{q}(t)+a^{b}}\right)^{\alpha} e_{q}(x t) F_{q}(t)=\left(\frac{2}{\lambda e_{q}(t)+a^{b}}\right)^{\alpha} \frac{\lambda e_{q}(t / m)-a^{b}}{t} \frac{t}{\lambda e_{q}\left(t / m-a^{b}\right)} \\
\times e_{q}\left(\frac{t}{m} m x\right) F_{q}(t) .
\end{array}
$$

By using equations (7) and (11), we arrive at the desired result.
Theorem 3.4. The following relations hold true:

$$
\begin{align*}
& { }_{H} \mathcal{B}_{n, q}^{(\alpha)}(x ; a, b ; \lambda)=\sum_{j=0}^{n}\binom{m x}{j} j!\sum_{k=0}^{n-j}\binom{n}{k}_{q} m^{j-n}{ }_{H} \mathcal{B}_{k, q}^{(\alpha)}(0 ; a, b ; \lambda) S_{2}(n-k, j),  \tag{32}\\
& { }_{H} \mathcal{E}_{n, q}^{(\alpha)}(x ; a, b ; \lambda)=\sum_{j=0}^{n}\binom{m x}{j} j!\sum_{k=0}^{n-j}\binom{n}{k}_{q} m^{j-n}{ }_{H} \mathcal{E}_{k, q}^{(\alpha)}(0 ; a, b ; \lambda) S_{2}(n-k, j) . \tag{33}
\end{align*}
$$

Proof. By using eq. (10) and (11), we obtain the results (32) and (33). We omit the proof.

## Acknowledgements

The second author would like to thank Integral University, Lucknow, India, for providing the manuscript number "IU/R\&D/2019-MCN683" for the present research work.

## References

[1] Andrews, G. E. \& Askey, R. (1999). Special Functions Encyclopedia of Mathematics and Its Applications, Cambridge University Press, Cambridge.
[2] Andrews, G. E. \& Askey, R. (1985). Classical orthogonal polynomials. Macmillan Publishing Company, New York, USA.
[3] Carlitz, L. (1959). Eulerian numbers and polynomials. Math. Mag., 32, 247-260.
[4] Ernst, T. (2015). On certain generalized $q$-Apple polynomial expansions. Ann. Univ. Mariae Curie-Sklodowska Sect. A, 68 (2), 27-50.
[5] Jang, L. C., Kim, D. S., Jang, G. W. \& Kwon, J. (2018). Some identities for $q$-Bernoulli numbers and polynomials arising from $q$-Bernstein polynomials, Adv. Stud. Contemp. Math. (Kyungshang), 28 (4), 659-667.
[6] Kurt, V. (2013). Some symmetry identities for the Apostol-type polynomials related to multiple alternating sums. Adv. Differ. Equ., 2013, 32.
[7] Khan, S. \& Nahid, T. (2018). Determinant forms, difference equations and zeros of the $q$-Hermite-Apple polynomials. Mathematics. DOI:10.3390/math6110258.
[8] Khan, S. \& Nahid, T. (2019). A unified family of generalized $q$-Hermite apostol type polynomials and its applications. Commun. Adv. Math. Sci., 2 (1), 1-8.
[9] Khan, W. A. (2015). Some Properties of the Generalized Apostol type Hermite-Based Polynomials. Kyung. Math. J., 55, 597-614.
[10] Luo, Q. M. (2006). Apostol-Euler polynomials of higher order and the Gaussian hypergeometric function. Taiwan. J. Math., 10, 917-925.
[11] Luo, Q. M. \& Srivastava, H. M. (2005). Some generalizations of the Apostol-Bernoulli and Apostol-Euler polynomials, J. Math. Anal. Appl., 308, 290-302.
[12] Luo, Q. M. \& Srivastava, H. M. (2006). Some relationships between the Apostol-Bernoulli and Apostol-Euler polynomials, Comput. Math. Appl., 51(3-4), 631-642.
[13] Luo, Q. M. \& Srivastava, H. M. (2011). Some generalizations of the Apostol-Genochhi polynomials and the Stirling numbers of the second kind, Appl. Math. Comput., 217, 5702-5728.
[14] Lu, Q. D. \& Srivastava, H. M. (2011). Some series identities involving the generalized Apostol type and related polynomials. Comput. Math. Appl., 62, 3591-3602.
[15] Mahmudov, N. I. (2013). On a class of $q$-Bernoulli and $q$-Euler polynomials. Adv. Differ. Equ., 2013, 108.
[16] Mahmudov, N. I. (2014). Difference equations of $q$-Appell polynomials, Appl. Math. Comput., 245, 539-543.
[17] Özarslan, M. A. (2011). Unified Apostol-Bernoulli, Euler and Genocchi polynomials. Comput. Math. Appl., 62, 2452-2462.
[18] Nisar, K. S. \& Khan, W. A. (2020). Note on $q$-Hermite-based unified Apostol-type polynomials. J. Interdiscpl. Math.. 22 (7), 1185-1203.
[19] Simsek, Y. (2013). Generating functions for generalized Stirling type numbers, Array type polynomials, Eulerian type polynomials and their applications, Fixed Point Th. Appl., Springer, Article number: 87 (2013) DOI: 1186/1687-1812-2013-87.
[20] Srivastava, H. M. \& Manocha, H. L. (1984). A Treatise on Generating Functions, Ellis Horwood Limited Co., New York.

